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ii-Lesson 26 ™~

G-

Tosolve 7 -5, | can think ¥5
plus something equals 7.” | can
start at 5 and count up until |
getto 7. 1t takes 2 hops to get
to 7,507 -5 =2, That's the
same as thinking 5+ 2 = 7.

1. Use the number path to solve.

/

2. Use the number path 16 help you solve.

Now that | have practiced, | don’t actually have t6 circle the
number on the number path and draw the arrows. 1can just use
my pencil point to imagine the hops. To solve 9 - &, I'm going to
start at 6 and courit up until | get te 9. That's like solving my
missing addend problems. 6 4+3 =9,5s09-6= 3.

EuREKA Lessan 26: Count on wsing the number path to find an unknown part. 27
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